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Note : All the questions are compulsory. All questions carry 

equal weightage. 

1. Answer the following question in about 

600 words. 

Describe the basic features of child's cognitive 

development during pre - operational stage. 

OR 

Discuss the factors which affect language 

development of children during primary school 

years. 

2. Answer the following question in about 

600 words. 

What are psychological needs of children ? As a 

teacher in a primary school, what will you do to 

fulfil children's psychological needs ? 

OR 
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What is meant by integrated personality ? How 

can teachers help children for the integrated 

development of their personality ? 

	

3. 	Answer any four of the following questions in 

about 150 words each. 

(a) As a teacher in a rural primary school, how 

can you take care of children with special 

needs ? 

(b) How does play promote emotional 

development of children ? 

(c) How does gender discrimination in homes 

affect children's development ? 

(d) Describe some important factors which 

affect children's physical development 

during pre - school years. 

(e) How does child's social development affect 

his/her emotional development ? 

(f) Development is a continuous process. 

Illustrate with examples. 

	

4. 	Answer the following question in about 

600 words. 

You have observed that two children in your class 

remain aloof and do not play with other children 

during recess period. Prepare a plan to facilitate 

proper socialisation of these children. 
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